3E A—%)—JL/(k

aAILT—4

EZEH (%)
feBIEH = ONBSRI,(ONESRI+OFFRSRI) X 100
RAONEsE (#)
20CIZBIFHESD (W)

20°CI=BHF BT _T - A—>

20°CI=851+3 gg

2N LY Nem 35

TAN
(BREpRR) 675°
20°CIzBIT5 ,
AWGNo. wipe oV 1095 TTVEH

25 197 252
26 3.26 328
97 5.04 405
28 8.02 510
29 12.21 627
30 19.2 780
31 318 1008
32 47 1215
33 75.3 1530
34 1205 1900
35 198 2486
36 280 2700
37 426 3350
38 648 4050
39 1020 5050
40 1667 6590

HETADNO = R4

BIRRTIVTMLY
100% 50% 25%
o 100 36
9 18 36
535 756 1070
0.04 0.081 0.15
0.029 0.063 0.115
0.017 0.04 0.092
0.012 0.022 0.046
EE[VDC]
4.2 5.9 8.4
5.3 1.5 11
6.7 9.4 13
8.4 12 17
10 15 21
13 19 26
17 24 33
21 30 42
26 37 53
33 47 67
42 59 84
53 75 106
67/ 94 133
84 118 168
105 149 211
133 187 265

TAE RO 0 120X 120X 3 mm FILI=H A

http://smt.shindengen.co.j

Y

0.011~0.017 N-m
10%

8

90

1690

0.31

0.23

0.16
0.075

13
17
21
26
33
42
53
66
84
105
133
167
210
264
333
419



